
 

 
   

 
 

   
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  

 
 

  

  

 

  

  

 

2.785J/3.97J/20.411J/HST523J  

CELL-MATRIX MECHANICS
	

Homework #1  
Solutions  

a. 

b. 

Synthesis: 
collagenase, H+

Osteoclast + ECM Solubilized +  Reg. 
Matrix 

(-)MF (-) Mitosis
Osteoblast +  ECM Fewer Cells +  Reg. 

(-)MF 
(-) Synthesis: ECM

Osteoblast + ECM dec. ECM +  Reg. 

Synthesis:Synthesis: 
collagcollageenasenase, H, H++

OsOsteoteocclaslastt ++ ECMECM SolubilizSolubilizeedd ++  Reg.Reg. 
MatrMatrixix 

(-) M(-)Hormone(-)Hormone (-) Miigragrattioionn 
OsOsteoteobblaslastt ++  ECMECM FeFewerwer CeCellslls ++  Reg.Reg. 

(-)Hormone(-)Hormone 
(-) Mitos(-) Mitosiiss

OsOsteoteobblaslastt ++  ECMECM FeFewerwer CeCellslls ++  Reg.Reg. 
(-)Hormone(-)Hormone
	

..(-)Synt(-)Synthesihesis:s: ECMECM 
OsOsteoteobblaslastt ++ ECMECM dec. ECMdec. ECM ++  Reg.Reg. 
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